CRANKCASE

ﬂ@

@ﬁ@

CRANKCASE

M4.55 MA4.56 Turbo smeerolie Turbo lubricating oil
pos. qty part benaming description
@ 1 STM7497 Siliconen bocht Silicon elbow
@ 1 STM7457 Slang turbo toevoerolie Hose turbo
3 2 STM2018 Afdichtring M10 Seal washer M10
4 1 STM7487 Banjo bout M10x1,25 Banjo-bolt M10x1.25
@ 2 HCS12 Slangklem 12-22 Hose clamp 12-22
6 1 STM9931 Kniestuk toevoer Elbow supply
7 1 STM9930 Kniestuk retour Elbow return
1 STM7477  Pakking Gasket
9 1 STM7455 Olieteruglooppijp Oil return pipe
10 2 STM1024 Bout M6 x 16 Bolt M6 x 16
11 2 CT40029 Veerring M6 Spring washer M6
12 1 08-01485 Isolatiekous Insulation sleeve
13 2 08-01484 Ty-rap G-52 Ty-rap G-52
[/ ™™y 341831.02r18 2022-01 PC M4.55_M4.56 2-26 o I



